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ENGLISH VERSION

Instructions : (1) Answer Any five Question Based on the General

10

Option.
(2) All questions carry equal marks.

(3) Figures to the right site indicate marks of

questions.

What is agriculture economics ? State the characteristics
of agricultural Economics.

What is agricultural productivity ? Explain the causes for
Law Productivity of agricultural sector in India.

State the meaning of Green Revolution. Explain the
factors affecting to Green Revolution.

Describe the limitations of Green Revolution in India.

What is agricultural mechanization ? State the scope of
agricultural Mechanization in India.

State the necessity of agricultural mechanization in India.

Explain the meaning and importance of price stability of
agricultural Product.

State the remedies steps taken by Government for
solution of problems of agricultural Labour in India.

Write Short Note :
(1) Importance of agricultural sector in India.
(2) Arguments of favour and infavour for mechanization.

Write Short Note :
(1) Agricultural product price policy
(2) Types of agriculture Labour

14

14

14

14

14

14

14

14

14

14

DC-1601250101010202 ] 2 [30/3]



